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39. 2sin® x—sinx—1=0
(2sinx+1D(sinx-1)=0
2sinx+1=0 or sinx—1=0
2sinx =-1 sinx =1
) ]
sinxy =——
i [B¥;4 V.4
Xy = — x:—_ X=—
6 6 2
. . . r Ir
The solutions in the interval [0,27) are Pt and
11z
1

41. 2cos? x+3cosx+1=0
(2cosx+1)cosx+1)=0

2cosx+1=0 or cosx+1=0
2cosx=-1 cosx=-—1
1
COSX=——
2
2T 4
Xr=— x=— X=7
3 3

4
47. 4cos’ x—1=0
(2cosx+1)(2cosx—1)=1
2cosx+1=0 or 2cosx—1=0
COS X = —— cosale
2 2
_2r 4r (ET
3’3 373

The solutions in the interval [0,27) are

T 2r 4nm S
—. s , and -
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43. 2sin? x=sinx+3
2sin® x—sinx-3=0
(2sinx=3)(sinx+1)=0

2sinx—=3=0 or sinx+1=0

2sinx=3 sinx =-1
. 3 3
sinx =— x="
2 2

sinx cannot be greater than 1.

= — : . 3
'he solution in the interval [0,27) is -

45. sin®@—-1=0
(sin@—1)(sin@+1)=0
sin@—1=0 or sin@+1=0

sinf =1 sin@ =-1
o=" g="
2 2

. . T g
The solutions in the interval [0,27) are — and - -

51. sec’x-2=0

sec?x=2
|
cos’ x =—
2

cosx ==

S o=

cosx=+—
2
2 2
CosXx=—o Oor Ccosx=———
2 2
T I 37 Sw
X=—,— X=—,—
4 4 4 4

The solutions in the interval [0,27) are

r 3x Sm# I«



49. 9tan’x-3=0

3
tan2x=—
9

3

tanx ==+, [—

tanx =+
3 3
tan x = — or tanx=-——
3 3
T In St 1lrx
X=—,— X=—,—
6 6 6 6
The solutions in the interval [0,27) are
T St Ir 117z
-, —,—, and —.
6 6 6 6

55. (2cosx+\/§](23inx+l)=0
2cosx+J§=0 or 2sinx+1=0

2cosx=—\/§ 2sinx=-1
3 , [
cosx=——— sinx=——
2
5w ¥4 T [§F:3
= X =— Xr=— X=——
6 6 6 6
The solutions in the interval [0,27) are
S
7 I% g 17
6

57. cotx(tanx-1)=0
cotx=0 or tanx—-1=0

tan x =1
T 3T T Sw
X=— X=— X=— X=—
2 2 4 4

. . . b2 5
The solutions in the interval [0,27) are I and T

; , . . 3z
since tan is undefined for o and -
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59.

61.

4 4 4 4
The solutions in the interval [0,27) are

T 3r Sr I
—,—,—, and —.
4 4 4 4

53. (tanx—1)(cosx+1)=0

tanx—1=0 or cosx+1=0
tanx =1 cosx=-1
¥4 Sr
X=— x=—o X=1
4 4
The solutions in the interval [0,27) are
V4 Sr
—.r,and —
4 4
i -+ Fa

sinx+2sinxcosx =0
sinx(1+2cosx)=0
sinx=0 or 1+2cosx=0

2cosx=-—1

1

COS X =——

2r ¥/
x=0 x=mr x=— x=—
3 3

The solutions in the interval [0,27) are

2r 4
0,—. 7, and —.
3 3

l.ElI]2 XCOsX = [le’l2 X
tan? xcosx—tan?x =0

tan> x(cosx—=1)=0

tan® x =0 or cosx—1=0
tanx =0 cosx =1
x=0 x=nx x=0

The solutions in the interval [0,27) are 0 and 7.



